Big Data Management and Analytics
Assignment 8



Finding similar items

Suppose that the universal set is given by {1,...,10}. Construct minhash
signatures for the following sets:

(a) S; = {3,6,9)
(b) S, = {2,4,6,8}
(C) S5 = {2,3,4)

1. Construct the signatures for the sets using the following list of
permutations:

- (1,2,3,4,5,6,7,8,9,10)
- (10,8,6,4,2,9,7,5,3,1)
- (4,7,2,91,5,3,10,6,8)



I.  Create first a characteristic matrix for
each permutation

1 0

(a) Set one column with the shingles LU
(b) Set columns for each document 2 0 1 1
(c) Fill the document columns by setting a 1 3 T 0 1
where there is an occurence for each shingle, 4 0 1 1
and 0 else 5 0 0 0
6 T 1 0
7/ 0O 0 O
3 0O 1 O
9 T 0 O
10 0O 0 O
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Create first a characteristic matrix for each permutation

2 0 1
3 1T O
4 0 1
5 0 O
6 1 1
7/ 0 O
8 0 1
9 1T O
10 0 O

1st permutation

© O O O O O —= = = O

Element S, |5,
0

—
(@)

- W U1 NN O N B O

0

- O O - O O - O

)

1
1
1
1
0
0
0
0

0

o - O O O = = O O o

2nd permutation

4 0 1

7 0
2 0
9 1
1 0
5 0
3 1
10 0
6 1
8 0

RO« T Y e i e R Y

O O O -~ O O O = O -

3rd permutation



Il.  Compute the minhash for each permutation

1 0O 0 O

2 0

3 @?& Select the first occurence of 1 per set
and get the elements at which they can

4 U be found

5 0O 0 O

6 1 1 0 Which leads to the following minhash:
h($;) =3

/ 0O 0 O h(S,) =2

8 0 1 0 h(S3) = 2

9 1 0 O

10 0O 0 O

1st permutation



Il.  Compute the minhash for each permutation

10 0O 0 O

8 0 0
The same procedure for the 2nd
6 (L 1 O
permutation...
4 0 1
2 0 1 1 h(S1) =6
9 1T 0 O h(s,) = 4
7 0O 0 O
5 0O 0 O
3 1T 0 1
1 0O 0 O

2nd permutation
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ii.  Compute the minhash for each permutation

Element S, [S; [5;

4 0

7 0 O :
...and for the 3rd permutation

2 0 1 1

9 0 Which leads to the following minhash:
h(S1) =9

0O 0 O 1

1 A(S,) = 4

5 0O 1 O h(S3) = 4

3 1T 0 1

10 O 17 0 This yields the following signatures:

6 7 1 0 SIG(S1) = {3,6,9}

SIG(S,) = {2,8,4
— T T (5;) = (2,84}

SIG(S3) = {2,4,4}
3rd permutation



2. Instead of using the previously given permutations use hash functions:

h{(x) = x mod 10
h,(x) = (2x + 1) mod 10
hsz(x) = (3x + 2) mod 10



2. Instead of using the previously given permutations use hash functions:

I. Set up a table:

1 0

0 0
2 0 1 1
3 1 0 1
4 0 1 1
5 0 0 0
6 1 1 0
7 0 0 0
8 0 1 0
9 1 0 0
10 0 0 0



1. Compute the hash values (except for zero-rows):

1 0 - - .

0 0
2 0 1 1 2 5 8
3 1 0 1 3 7 1
4 0 1 1 4 9 4
5 0 0 0 . i i
6 1 1 0 6 3 0
7 0 0 0 . i i
8 0 1 0 8 7 6
9 1 0 0 9 9 9
10 0 0 0 . i i
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

e |53 1S, |53 e (x) [y (2) |3 (%)
0 0 - i i

1 0

2 0 1 1 2 5 8

3101 3 7 1 US| S S5
4 0 1 1 4 9 4 ]
slalalal - | - | - R | © o  ®
slalalal ¢ | 2| a LESH I R
7lalalal - | - | -

8 01 0 8 7 6

9 1.0 0 9 9 9

10000___

11
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

e 151 (S, 155 () o ()
0 O -

Update only S, S5!

1] Sy: Sa:

2 0 ()@ 2 5 8 min(oo, 2) = 2 min(co, 2) = 2
T o o o e
4 0 1 1 4 9 4

5 0 0 O - - -

6 1 1 0 6 3 0 Update of 2nd row:

8 01 0 8 7 6 hy o 2 2

9 1 0 0 9 9 9 hy, o 5 5

0 0 0 - - - e e | @ |6

12
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

e 151 (S, 155 () o)
0 O -

Update only §;, S3!

1 0 B Sl: 53:

2 0 1 5 8 min(oo, 3) = 3 min(2,3) = 2
— min(oo,7) =7 min(5,7) =5

O BLN 3 ! ! min(co,1) =1 min(8,1) =1

4 0 1 1 9 4

5 0 0 O - - -

6 1 1 0 6 3 0 Update of 3rd row:

plojala] - | - | - AR

8 0 1 O 8 7 6 h, 3 2 2

9 1 0 O h, 7 5 5

hsy 1 8 1

13
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

e S,

;
0 0 - - _=

1T 0

2 0 1 1 2 8
3 1 O 1

= =

4 0 11 4 4
5 0 0 O - - -
6 1 1 0 6 3 0
/7 0 0 O - - -
8 0 1 O 8 7/ 6
2 1 0 O 9 9 9
10 0 O O - - =

Update only S, S5!

S,: S3:
min(2,4) = 2 min(2,4) = 2
min(5,9) =5 min(5,9) =5
min(8,4) = 4 min(1,4) =1

Update of 4th row:

(5 [S; S5
h, 3 2 2
h, 7 5 5

hs 1 4 1

14
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

e |53 1S, |53 e (x) [y (2) |3 (%)
0 0 - i i

0

1
2 0 1 2 52738
3 1 1
4 0 4
5 0 i
6 W@W o 6 3 o
Zlalo|a| - i i
8 01 0 8 7 6
9 1 0 0 9 9 9
.0 0 0 - i i

Update only §;, 55!

Sy S,
min(3,6) = 3 min(2,6) = 2
min(7,3) = 3 min(5,3) = 3
min(1,0) =0 min(4,0) =0

Update of 6th row:

- [S1 ]S, |Ss ]
h4 3 2 2
h, 3 3 5

hy 0 0 1

15
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

H

Update only S,!

1 Sy

2 0 1 min(2,8) = 2

3 1 0 min(3,7) = 3

4 0 1 min(0,6) = 0

5 0 0

6 1 1 Update of 8th row:
7.0 0 (5105, |85
8 0 (Y 8 7 6 h 3 2 2
9 1 0 9 9 9 h, 3 3 5
0 0 - - - h;y 0 0 1

16
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1. Create a table for all hash functions and sets and initialize them with
infinite distance:

H

1

2 0

3 1

4 0

5 0

6 1

/ 0

8 0 8 7 6

V4

9 1 9 9 9
10 0 _ _ _

Update only §;!

Sq:
min(3,9) = 3
min(3,9) = 3
min(0,9) = 0

Update of 8th row:

(5 [S; S5
h 3 2 2
h, 3 3 5
h; 0 0 1

17



Ii. Create a table for all hash functions and sets and initialize them with

infinite distance:
(51 [S, |55 |
he 3 2 2

h, 3 3 5
ks 0 0 1

This yields the following signatures:
SIG(S;) = (3,3,0)
SIG(S,) = (2,3,0)
SIG(S;) = (2,5,1)



3. How does the estimated Jaccard similarity from (1.) and (2.) compare
with the true Jaccard similarity of the original data? How to reduce
deviations in the approximated Jaccard similarities?

RECAP: Jaccard similarity:

— [D1NDy|
d]accard(Dl:DZ) ~ |D{UD,]




RECAP: Jaccard similarity:

— |[D1NDy|
d]accard(Dl:DZ) ~ |D,UD,]

(@) S; = {3,6,9}

I. Actual Jaccard similarity: (b) S, = {2,4,6,8}
(c) S5 = {2,3,4)
--
- 1/6 1/5
S - 2/
S3 - - | -



(a) Sl = {3;619}

ll. Permutation estimated Jaccard similarity: (b) S, = {2,8,4}
(c) S5 = {2,4,4)
--
- 0/3 O/3
Sz - - 2/3
S3 - - | -



(a) Sl = {3;310}

lil. Hash estimated Jaccard similarity: (b) S, = {2,3,0}
(C) 53 - {2,5,1}
--
i 2/3 0/3
S> - /3
S3 - - | -



lv. Comparison:

Actual J. similarity Perm. est. J similarity Hash. est. J similarity
s s, s, B (s s, s, Qs S s
51 ) 1/6 s 51 - |V 51 e s
S, - 2/, S, - -2, S, : - 1
S3 : : : S3 - - : S3 : : :

Estimation of the actual J. similarity is rather poor, why?

- Too small minhash vectors. Get more permutations of the universal set or
more hash functions to extend the minhash vectors!
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Assignment 8-2 - CluStream

t 1 12 (3 14 |5 6 |7 18 |9 |10 11 112

1 2 4 4 10\ /9 2 11\ [12\ [12\ [11\ (4
" 0) 6 6@ E)ELE]G) ) G G) 6
* InitPoints=6
* q=3 12 |
« Factor of clu radiust=5 1(1) |
“ |
Find the maximum boundary of clu Z ’\§\; |
:= factor of t of clu radius=5-0.5 = 2.5 7 [ q, |
6 |
5 1 1]
di2(C1,p) = 2.06 4 (, o.\l |
3."“ O..I'9 3 e —/ I
Is p within the maximum cluster boundary of C;? : 2= C3 |
'1 (ece) C |

(x - xclcentroid) +(y - YClcentroid) = (t ) radCl) ? g

@123456789101112

(2 — 1.5)2+(3 — 1)2< (5 - 0.5)2?
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